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Determining Whether Triangles are Similar
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1. Determine whether the following triangles are similar. Explain your answer.
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2. Determine whether the following triangles are similar. Explain your answer.
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3. In the diagram below, AR =15, RF =12, DO=10, OG =8, and ZARF = ZDOG .
Must AARF ~ ADOG ? Explain your answer.
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4. In the diagram below, AR =18, RF =15, DO =12, OG =10, and ZRAF = Z0DG .
Must AARF ~ ADOG ? Explain your answer.
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5. In the diagram below, AF =20, RF =12, DG =12, OG=4,and ZR= /0 . Must
AARF ~ ADOG ? Explain your answer.
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6. In triangle SEB, 4 is on SB, and E is on EB so that ZE = /BAR.
Explain why ASBE ~ ARBA

S A B [@5/ zUr o pais .

% (0 ”12540040( W{ an j(ﬂég a/e

E C@@ﬂ)m ‘




7. In right triangle ABC shown below, altitude CD is drawn to hypotenuse AB. Explain

why A4BC ~ AACD. | , ‘
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8. In the diagram below, A DEF is the image of AABC after a clockwise rotation of 180°
and a dilation where 45 =3, BC'=5.5, AC=4.5, DE =6, D=9, and EF=11.

Show that AABC ~ ADEF
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9. In the diagram below, AABC ~ AADE. éc) +},) )0% L) q/}c[ ,l_eb}-—
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Which measurements are justified by this similarity?
1) AD=3 AB=6, AE=4,and AC'= 12
2) AD=5,48=28, 4F=7,and AC= 10
_3) AD=3,4B=9, AE=5and4C=10 S o
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10. In the diagram below, AABC ~ ADEF. »‘9% o;_:gq
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If 4B =6 and AC = &, which statement will justify similarity by SAS?
DE=9,DF=12,and L4 =/D
N2) DE=8,DF=10,and LA = £D E
3) DE=36, DF =64, and@}{ . q
4) DE= 15,D4¢'=2E|,and\£% A -
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11. In the diagram below, LGRS = ZART | GR =36, SR =45, AR=15,and RT = 13.
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Which triangle similarity statement is correct?
1) AGRS~ AART by AA. - 3) AGRS~ AART by SSS.
2) AGRS~ AART by SAS. @) AGRS is not similar to AART.
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12. Triangles ABC and DEF are drawn below.

If AB=9, BC=15, DE=6, EF =10, and £B = ZE, are the triangles similar? Explain your
answer . e
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13. Triangles RST and XYZ are drawn below. If &5 =6, 57= 14, ¥¥=9, ¥Z =21, and
£S=ZY,1s ARST similar to AXYZ? Justify your answer. (T \
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